[ number of missing inner layers |

<hits>vs n

Ratio

1

=
<

N
LRRLL

=
O|
a
LRI

- Entries 2397
+ | Mean 0.3212
N Std Dev 0.4997
. H H |
" TEntries 2441
: Mean 0.3187
. |_Std Dev. 0.4974
Entries
¢ | Mean
. [ .Std Dev
S
E Entries
. Mean
. |_Std Dev
Entries
. Mean
....v..] Std Dev

=
H
TTT[TTTT

[ number of missing outer layers |

1g —| Entries 2397
3 + | Mean 2.029
N Std Dev 2.115
_1_ _________ :._ , ' I
10°E " Entries 2441
F : Mean 2.052
L N Std Dev 2.131
B IR S Deeieeieitiiei.... I
10 E + | Entries 2441
F ' Mean 2.053
B N Std Dev 2.123
10’3 SRR TR T IR Feeeeeen ]
E : : Entrie 2443
r . . Mean 2.05
10_4 N . |_Std Dev 2.113
S 1 poTTTTTRRRLTTRRTTTT 1
= : : Entries 2417
o : . Mean 2.041
10—5 L e M v .. Std Dev 2.115
6| [1 P R B
0108 =1
=
© r - -
12 [ C|
1__' b o = 0 Y e
- =+

10

15

20 25

track n

10?

10

Entries 2397
Mean 8.513
Std Dev 4.976
Entries 2441
Mean 8.522
Std Dev 5.002

| Entries 2441
-... Mean 8.533
Std Dev 5.01
Entries 443
lean 8.526
Std Dev 4.992
Entries 2417
Mean 8.535
‘_std Dev 5.011

-
g F
o L bt L
E S
{

o
a

20

25 30 35 40
track hits

Entries 3604
Mean 0.8136
Std Dev 6.301
: i
Entries 3677
Mean 0.821
Std Dev 6.255
: 1
Entries 3670
Mean 0.8129
Std Dev 6.248
- |
Fntries
Fin
bg|Dev
Entries
Mean
Std Dev
o 10093 =
=
o] L
o [
+
1____ E3
0.95—=




	Contents
	Page 1


